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Note: there is a dispute between YWy "1 19?58 “1 regarding someone who intended to fulfill a myp and inadvertently trespassed;
e.g. if someone had 2 babies to circumcise, one born on naw and one on ‘K oy and he mistakenly circumcised the 7-day old on naw.
N1 holds him liable and ywi> *7 exempts him. This case is referred to as i11y¥n 1272 7YV, One of the considerations going into "7
yw1i7’s ruling is that 7526 must be done that day and, as such, the father/ 57w may be somewhat “panicked”; if so, his exemption
may not apply to a case where there is time for level-headed thinking.
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I » mwn: The switched brides (inadvertently) with erroneous consummation
a alla»n on account of v’& nwr
b  if the grooms are brothers — 2»n also on account of Nk MWK
¢ if the brides are sisters — 2n also on account of NYR MINKR
d if they are mT1 - 27n (whichever or both) on account of nT
i observation: follows 1" who maintains TR Y YN NOX in §OIN NORI Y917 NTR ,NNR N2 NOR
1 support: n™v’s ruling re the possibility of eating one thing and being 2»n up to 5 mxvn and 1 nwr
(a) Question: following which of his teachers (x"1/Ywn> 7) is he ruling (nxn 7272 NYV — see note)
ii  alternatively: might even be nynw "1 — and each of the cases could be constructed as nnx na Nox:
1  easy: the first 3 (NWR MNR ,NR NYR ,WKR NWR) when DYW exchanged the pPVITR
2 more challenging: nT1 — if she was menstruating as grooms became n’9113/as M became m» T
e they must be separated for 3 months to ensure that they aren’t pregnant from the wrongful intercourse
i challenge: a woman cannot become impregnated from first intercourse
ii  defense #1: the errant husbands had 2 mx»a
iii  challenge: if so, ®"n "1’s accounting of the number of mxrvn in this nwn should be doubled - 32
iv  response: according to X", there are multiple mxvn for each n3 in the nx»a
v challenge to (iii): "N became impregnated (from nTn) with her first nx»
1 explanation: X1 7y (her first husbands) performed anal sex (v. 1)
(a) 7Y —so she shouldn’t become pregnant and lose her beauty
(b) 1 —as per v. 1 —because the child wouldn’t be reckoned “his”
vi defense: 1nn used her finger to prepare the nx»a
f  If they are minors — they may return immediately to their husbands (no concern of pregnancy)
i (%) YRnw: all need to wait 3 months (in case of mr) except for minor converts and freed slavegirls
1 Reason: mm as a precaution against a N1 — but not in the case of our nwn which is so unlikely
(it probably never happened) and they weren’t a3
ii  (2) Y%mnw: all need to wait 3 months except minors (any minors)
1 reason: my is uncommon among nMvp and potential converts are careful not to get pregnant
2 Support: »ov "7 in R, M 1 who disagrees is concerned that she didn’t take proper
precautions and may be pregnant >wait 3 months for nanan
g  If they are 102 N3, they are banned from nmAan n%or
I Exceptions to »71 13w nrmv (v. 2)
a 19772 RHYY R ,nRIN (following bold and italicized words in v. 2)
b nAm " - also first nX’a (inferring above from »7t n15w and 1¢t X2 from NMR)
i reason: first NR’a cannot impregnate
¢ tangential note: if a woman waits 10 years between husbands, she can no longer become pregnant
i exceptions: if she had n&’1 in the meantime (mara) or anticipated marrying
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